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N A formula is an equation that tells you how one variable is related to one
Key Vocabulary o or more other variables. To solve a formula, find the value of one variable
formula, p. 30 by substituting numbers for the other variables.
solve a formula,
p. 30
N~

EXAMPLE (¢ BUSLLERTUT LI E]

The formula M = 220 — a gives a person’s maximum heart rate M,
where a is the person’s age in years. Malcolm is 12 years old. His
uncle is 40 years old. What is the difference between their maximum

heart rates?
Malcolm His Uncle
M=220—-a M=220—-a Write the formula.
=220—12 =220 — 40 Substitute their ages for a.
=208 =180 Subtract.

..« The difference between their maximum heart rates is 208 — 180,
or 28 beats per minute.

@ On Your Own

1. What is the difference between the maximum heart rates of
Malcolm and his grandmother, who is 85 years old?

EXAMPLE (72, BUSITENEER T E]

Find the area of the rectangular jumping surface of the trampoline.

—) Use the formula for the area of a rectangle.

A=Dbh Write the formula.
=14 X7 Substitute 14 for b and 7 for h.
=98 Multiply.

.2+ The area of the jumping surface is 98 square feet.

@ On Your Own

2. Find the area of a rectangular trampoline that measures
12 feet by 6 feet.
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A trapezoid can be used to approximate the shape of Arkansas, as
shown on the map.

a. Use the formula A = h(b + B) + 2 to find the area.

b. Mississippi has an area of about 46,907 square miles. Is the area of
Arkansas greater than or less than the area of Mississippi?

Remember

The corner mark 71 in
a figure means that the
angle formed by the
sides is a right angle.

" B =260 miles 3
|

h = 230 miles | ARKANSAS

N

a. A=hb+B) =2 Write the formula.
= 230(190 + 260) + 2 Substitute 230 for h, 190 for b, and 260 for B.
= 230(450) + 2 Add inside parentheses.
= 103,500 = 2 Multiply 230 and 450.
= 51,750 Divide.

::+ The area of Arkansas is about 51,750 square miles.

b. Because 51,750 is greater than 46,907, the area of Arkansas is
greater than the area of Mississippi.

@ On Your Own

're @ 3. Atrapezoid can be used to approximate the shape of Nevada,
Exercises 3-8 dy as shown on the map. How much larger is the area of Nevada
than the area of Arkansas?

_—__h =310 miles
e |

b = 200 miles
NEVADA

- B = 500 miles

N\

Section 1.5 Using Formulas to Solve Problems 31



